ZESTAWIENIE ZJAZOOW | SKRZY ZOWAN DROGA 1336
Powierzchni | Szeroko §¢ | Dlugo $¢ w
l,p, km strona a[m2] [m] 0si [m] Skos/tuk  |[Nawierzchnia |Skrzyzowanie
1 0[273.98 lewa 54,24 4,5 9,6 R=5 asfalt
2 0[729.38 lewa 41,29 5 5,2 R=5 asfalt
3 0/913.16 lewa 72,07 8,8 5,7 R=5 asfalt
4 0/926.18 prawa 81,01 9,7 6,3 R=5 asfalt
5 1(719.33 prawa 37,09 4,5 59 R=5 asfalt
6 2/335.29 prawa 23,7 4,5 4.4 R=3 kruszywo
7 2(339.98 lewa 60,06 4,5 11 R=5 asfalt
8 2414.84 prawa 23,7 4,5 4,4 R=3 kruszywo
9 2|747.96 lewa 54,57 3,5 10,7 R=5 asfalt
10 2|820.47 prawa 38,6 4,5 6,2 R=5 asfalt
11 2|844.01 lewa 54,62 53 7,2 R=6 asfalt Skrzyzowanie
12 2/979.80 lewa 39,25 5 5,7 R=5 kostka bet
13 3/45.15 lewa 38,79 5 5,6 R=5 kostka bet
14 3/162.01 prawa 39,25 5 5,7 R=5 kostka bet
15 4/79.31 lewa 47,4 9 4.4 R=3 kruszywo
16 4/231.08 prawa 41,96 4,5 6,9 R=5 asfalt
17 4/715.81 prawa 35,81 4,5 5,6 R=6 asfalt
18 4/894.63 lewa 58,92 10,7 4,4 R=5 kostka bet |Skrzyzowanie
19 4/900.75 prawa 27,15 53 3,4 1:1 kostka bet
20 4/934.54 lewa 27,26 5,5 3,4 R=5 kostka bet
21 4/978.89 prawa 21,84 4,5 4,4 1:1 kostka bet
22 5/34.99 prawa 21,4 4,5 4,3 1:1 kostka bet
23 5/39.59 lewa 71,36 46,7 15 1:1 kostka bet
24 5/64.52 prawa 24,22 4,5 5 1:1 kostka bet
25 5|71.70 prawa 22,38 4,5 4.6 1:1 kostka bet
26 5/81.01 prawa 19,7 4,5 3,9 1:1 kostka bet
27 5/99.42 lewa 12,52 8,8 1,2 R=5 kostka bet
28 5/102.66 prawa 22,27 4,5 45 1:1 kostka bet
29 5/115.20 lewa 15,75 7,8 1,6 R=5 kostka bet
30 5/135.75 prawa 26,15 5,3 3,1 R=5 kostka bet
31 5/142.02 lewa 11,58 5,7 15 R=5 kostka bet
32 5/172.69 lewa 10,74 4,5 1,8 1:1 kostka bet
32 5/172.69 prawa 20,62 5 2 R=5 kostka bet
33 5|217.72 lewa 11,26 4,5 2 1:1 kostka bet
34 5|245.75 lewa 269,1 55 6,7 R=5 kostka bet
35 5|276.67 lewa 109,93 5 18,6 R=6 asfalt Skrzyzowanie
36 5|314.08 lewa 14,47 4,5 2,7 1:1 kostka bet
37 5|333.40 lewa 9,37 9,7 0,7 R=5 kostka bet
38 5/356.25 prawa 16,31 4,5 3,1 1:1 kostka bet
39 5/361.05 prawa 18,27 4,5 3,6 1:1 kostka bet
40 5/405.47 lewa 13,65 4,5 2,5 1:1 kostka bet
41 5/419.59 lewa 12,69 4,5 2,3 1:1 kostka bet
42 5|441.87 lewa 11,39 4,5 2,1 1:1 kostka bet
42 5/441.87 prawa 14,68 4,5 2,8 1:1 kostka bet
43 5/517.70 prawa 15,01 8,1 1,5 R=5 kostka bet
44 5|606.82 prawa 81,01 9,7 6,4 R=6 asfalt Skrzyzowanie




